

## Wuhan University Journal of Natural Sciences

Article ID 1007-1202(2010)04-0315-05 DOI 10.1007/s11859-010-0658-y

# Hamiltonian Theory for the DNLS Equation with a Squared Spectral Parameter

#### ZHANG Jin, YAN Tian, CAI Hao<sup>†</sup>

School of Physics and Technology, Wuhan University, Wuhan 430072, Hubei, China

© Wuhan University and Springer-Verlag Berlin Heidelberg 2010

**Abstract:** With a special gauge transformation, the Lax pair of the derivative nonlinear Shcrödinger (DNLS) equation turns to depend on the squared parameter  $\lambda = k^2$  instead of the usual spectral parameter *k*. By introducing a new direct product of Jost solutions, the complete Hamiltonian theory of the DNLS equation is constructed on the basis of the squared spectral parameter, which shows that the integrability completeness is still preserved. This result will be beneficial to the further study of the DNLS equation, such as the direct perturbation method.

**Key words:** DNLS equation; Hamiltonian theory; squared spectral parameter; inverse scattering transform; perturbation **CLC number:** N 93; O 437

Received date: 2010-01-25

† To whom correspondence should be addressed. E-mail: hcai@whu.edu.cn

## 0 Introduction

The derivative nonlinear Schrödinger (DNLS) equation has been recognized as a model for the change of form of weakly nonlinear and dispersive parallel magnetohydrodynamics (MHD) waves<sup>[1]</sup>, which can well describe waves whose propagation is strictly parallel to the ambient magnetic field. It has been found that many physical phenomena, such as Alfven waves in space plasma<sup>[2-8]</sup>, subpicosecond, or femtosecond pulses in single-mold optical fibers, and the weak nonlinear electromagnetic waves in ferromagnetic, antiferromagnetic, or dielectric systems under external magnetic fields, can be described with the DNLS equation<sup>[9]</sup>. In 1978, Kaup et al<sup>[10]</sup> first solved the DNLS equation with vanishing boundary condition (VBC) through the inverse scattering transform (IST) method constructed on complex k-plane<sup>[11]</sup>. where k is the usual spectral parameter. In later years, a lot of literature was published in succession, and most of them tried to give 1-soliton and N-soliton solutions, as well as the related properties<sup>[12-18]</sup>. However, all the authors selected the usual spectral parameter k as the basic parameter and neglected to choose the squared spectral parameter  $\lambda(\lambda = k^2)$  instead. Through learning the properties of the DNLS equation, we use the squared spectral parameter  $\lambda$  as the basic parameter to construct the Hamiltonian system of the DNLS equation.

If we choose the squared spectral parameter  $\lambda$  to replace the usual spectral parameter  $k^{[12, 19]}$ , the poles in the IST should no longer be found in both the 1st and 3rd quadrants but should appear in the upper half complex

**Foundation item:** Supported by the National Natural Science Foundation of China (10705022)

**Biography:** ZHANG Jin, female, Master candidate, research direction: nonlinear equation. E-mail: jinmyself@126.com

plane only. As a result, those ambiguities coming from the analytical properties of Jost solutions can be avoided, and the whole computation can be simplified. Specifically, in the case of solving the perturbed DNLS equation<sup>[18, 20-22]</sup>, we find that using the  $\lambda = k^2$  as spectrum parameter instead of *k* itself has some advantages. Compared with the NLS equation, the DNLS equation has several squared items that imply that choosing  $\lambda$  as the basic parameter is necessary. To verify the reasonableness of using  $\lambda$  as the basic parameter, we develop the Hamiltonian theory because this system is of complete integrability.

Therefore, it is appropriate to choose the squared spectral parameter  $\lambda$  as the basic parameter. The single soliton solution for the DNLS equation with VBC has been obtained through the Marchenko equation<sup>[23]</sup>, which can be verified finally by direct substitution into the nonlinear equations. In Section 1, we give the basic formulas and through the gauge transformation rewrite those formulas first. From Section 2 to Section 4, we develop the Hamiltonian theory of the DNLS with  $\lambda$  in the cases of continuous and discrete spectrum, respectively, and give the conclusion.

## 1 Some Basic Formulas and Gauge Transformation

In 1978, Kaup *et al*<sup>[10]</sup> developed IST with some revisions for solving the DNLS equation with vanishing boundary conditions:

$$iu_t + u_{xx} + i(|u|^2 u)_x = 0$$
(1)

with  $u(x,k) \rightarrow 0$  as  $x \rightarrow \infty$ . The associated eigenvalue problem is given by the modified Zakharov-Shabat conditions of compatibility<sup>[23]</sup>.

For the Lax pairs of DNLS equation, we have

$$\boldsymbol{L} = -\mathrm{i}k^2\boldsymbol{\sigma}_3 + k\boldsymbol{U}, \ \boldsymbol{U} = \begin{pmatrix} 0 & u \\ -\overline{u} & 0 \end{pmatrix}$$
(2a)

$$\boldsymbol{M} = -\mathrm{i}2k^4\boldsymbol{\sigma}_3 + 2k^3\boldsymbol{U} - \mathrm{i}k^2\boldsymbol{U}^2\boldsymbol{\sigma}_3 - k(-\boldsymbol{U}^3 + \mathrm{i}\boldsymbol{U}_x\boldsymbol{\sigma}_3) \quad (2b)$$

where k is the usual spectral parameter. According to the definition of the Jost solutions and their asymptotic behavior, we have the expression of the free Jost solution:

$$\boldsymbol{E}(\boldsymbol{x},\boldsymbol{k}) = \mathrm{e}^{-\mathrm{i}\boldsymbol{k}^2\boldsymbol{x}\boldsymbol{\sigma}_3} \tag{3}$$

where  $|x| \rightarrow \pm \infty$ ,  $u \rightarrow 0$ ,  $L \rightarrow -ik^2 \sigma_3$ . Through (3), it is obvious that the basic parameter of the free Jost solution is  $k^2$ . Therefore, we suppose  $\lambda = k^2$  as the basic parameter to replace *k*. Another problem is that *k* cannot be instead of  $\lambda$  directly, so we can make the gauge transformation as follows: Because of the gauge transformation,

$$\boldsymbol{A}^{-1}(k)\boldsymbol{L}(k)\boldsymbol{A}(k) = \boldsymbol{L}(\lambda), \quad \boldsymbol{A} = \begin{pmatrix} k & 0 \\ 0 & 1 \end{pmatrix}$$
(4)

the Lax pairs (2a) can be rewritten as

$$\boldsymbol{L}(\boldsymbol{x},\boldsymbol{\lambda}) = -\mathrm{i}\boldsymbol{\lambda}\boldsymbol{\sigma}_{3} + \boldsymbol{\Lambda}\boldsymbol{U} = \begin{pmatrix} -\mathrm{i}\boldsymbol{\lambda} & \boldsymbol{u} \\ -\boldsymbol{\lambda}\overline{\boldsymbol{u}} & \mathrm{i}\boldsymbol{\lambda} \end{pmatrix}, \boldsymbol{\Lambda} = \begin{pmatrix} 1 & 0 \\ 0 & \boldsymbol{\lambda} \end{pmatrix} \quad (2\mathrm{a}')$$

Be similar to (2a'), the expression of M can be obtained easily:

$$\boldsymbol{M} = -\mathrm{i}2\lambda^2\boldsymbol{\sigma}_3 + 2\lambda\boldsymbol{\Lambda}\boldsymbol{U} - \mathrm{i}\lambda\boldsymbol{U}^2\boldsymbol{\sigma}_3 - \boldsymbol{\Lambda}(-\boldsymbol{U}^3 + \mathrm{i}\boldsymbol{U}_x\boldsymbol{\sigma}_c) \quad (2\mathrm{b}')$$

As  $|x| \rightarrow \pm \infty$ ,  $u \rightarrow 0$  and  $L \rightarrow -i\lambda \sigma_3$ , the free Jost solution is expressed as

$$\boldsymbol{E}(\boldsymbol{x},\boldsymbol{\lambda}) = \mathrm{e}^{-\mathrm{i}\,\boldsymbol{\lambda}\boldsymbol{x}\boldsymbol{\sigma}_3} \tag{3'}$$

Moreover, it can be expressed as two independent solutions:

$$\boldsymbol{E}_{.1}(x,\lambda) = \begin{pmatrix} 1\\ 0 \end{pmatrix} e^{-i\lambda x}, \quad \boldsymbol{E}_{.2}(x,\lambda) = \begin{pmatrix} 0\\ 1 \end{pmatrix} e^{i\lambda x}$$
(5)

Therefore, the Jost solutions are defined as

$$\begin{cases} \Psi(x,\lambda) \to E(x,\lambda), x \to +\infty \\ \Phi(x,\lambda) \to E(x,\lambda), x \to -\infty \end{cases}$$
(6)

Moreover, through the gauge transformation, the  $2 \times 2$  matrix solution changes into

$$\Psi(x,\lambda) = \begin{pmatrix} \tilde{\Psi}_1(x,\lambda) & \lambda^{-1}\Psi_1(x,\lambda) \\ \tilde{\Psi}_2(x,\lambda) & \Psi_2(x,\lambda) \end{pmatrix},$$
$$\Phi(x,\lambda) = \begin{pmatrix} \phi(x,\lambda) & \lambda^{-1}\tilde{\phi}(x,\lambda) \\ \phi_2(x,\lambda) & \tilde{\phi}_2(x,\lambda) \end{pmatrix}$$
(7)

Obviously, because of the different asymptotic behavior, we can separate (7) into two column matrixes as  $\Psi(x,\lambda) = (\tilde{\Psi}(x,\lambda), \Psi(x,\lambda))$  and  $\Phi(x,\lambda) = (\phi(x,\lambda), \tilde{\phi}(x,\lambda))$ . Since there are only two independent Jost solutions when  $\lambda$  is real, the unitary matrix  $T(\lambda)$  is introduced as

$$\boldsymbol{\Phi}(x,\lambda) = \boldsymbol{\Psi}(x,\lambda)\boldsymbol{T}(\lambda) \tag{8}$$
$$= \begin{pmatrix} a(\lambda) & -\lambda^{-1}\tilde{b}(\lambda) \\ b(\lambda) & \tilde{a}(\lambda) \end{pmatrix}.$$

## 2 Poisson Brackets

where  $T(\lambda)$ 

#### **2.1** Variation Operation $\delta u(x)$

According to equation (1), u is the complex field; therefore, a particular form of Poisson bracket is introduced:

$$\{u(x), \overline{u(y)}\} = -\frac{1}{2} \{\partial_x - \partial_y\} \delta(x - y)$$
(9)

which is extension of that for two real field densities at two points in the case of Korteweg-de Vries (KdV). Moreover, the Poisson bracket for the quantities Q and R

can be expressed as

$$\{Q, R\} = \frac{1}{2} \int dx \left\{ \partial_x \frac{\delta Q}{\delta u(x)} \right\} \frac{\delta R}{\delta \overline{u(x)}} - \frac{\delta Q}{\delta u(x)} \left\{ \partial_x \frac{\delta R}{\delta \overline{u(x)}} \right\} + \left\{ \partial_x \frac{\delta Q}{\delta \overline{u(x)}} \right\} \frac{\delta R}{\delta u(x)} - \frac{\delta Q}{\delta \overline{u(x)}} \left\{ \partial_x \frac{\delta R}{\delta u(x)} \right\}$$
(10)

To be specific, the variation operation  $\delta u(x)$  satisfy

$$\frac{\delta L(z,\lambda)}{\delta u(x)} = \sigma_{+}\delta(x-z), \frac{\delta L(z,\lambda)}{\delta \overline{u(x)}} = -\lambda\sigma_{-}\delta(x-z),$$
$$\frac{\delta T(\lambda)}{\delta u(z)} = \Psi^{-1}(z,\lambda)\sigma_{+}\Phi(z,\lambda),$$
$$\partial_{z}\frac{\delta T(\lambda)}{\delta u(z)} = \Psi^{-1}(z,\lambda)(i2\sigma_{+}-\lambda\overline{u}\sigma_{3})\Phi(z,\lambda) \quad (11)$$

By the same method, we can obtain the expressions of  $T(\lambda)$  with respect to u(z) and those of  $T^{-1}(\lambda)$  with respect to u(z) and  $\overline{u(z)}$ .

#### **2.2** Variations of Monodramy Matrix $T(\lambda)$

According to the basic Poisson bracket and the general definition of direct product for matrices, the following expression can be given<sup>[24]</sup>:

and the integrable equation can be expressed as

 $\{T(\lambda) \bigotimes T(\lambda')\}$ 

$$=\frac{1}{2}\int dx [\boldsymbol{\Psi}^{-1}(x,\lambda)\boldsymbol{\Phi}^{-1}(x,\lambda')\boldsymbol{R}\boldsymbol{\Phi}(x,\lambda)\boldsymbol{\Psi}(x,\lambda')] \quad (12)$$

where

$$\boldsymbol{R} = (i2\lambda\sigma_{+} - \lambda\overline{u}\sigma_{3}) \otimes (\lambda'\sigma_{-}) + \sigma_{+} \otimes (i2\lambda'^{2}\sigma_{-} + \lambda'u\sigma_{3}) \\ -(i2\lambda^{2}\sigma_{-} + \lambda u\sigma_{3}) \otimes \sigma_{+} - (\lambda\sigma_{-}) \otimes (i2\lambda'\sigma_{+} - \lambda'u\sigma_{3})$$
(13)  
According to the usual manner of making up the Hamiltonian theory, we can consider<sup>[24]</sup>

$$\partial_{x} \left( \boldsymbol{\Psi}^{-1}(x,\lambda) \boldsymbol{\Psi}(x,\lambda') \otimes' \boldsymbol{\Phi}^{-1}(x,\lambda') \boldsymbol{\Phi}(x,\lambda) \right)$$
  
=  $\boldsymbol{\Psi}^{-1}(x,\lambda) \boldsymbol{\Phi}^{-1}(x,\lambda') W \boldsymbol{\Phi}(x,\lambda) \boldsymbol{\Psi}(x,\lambda')$  (14)

In formula (14), we use the symbol of another direct product "S'" for matrix<sup>[25]</sup> to simplify the integral calculation in (12). The usual spectral parameter k has been instead of the squared spectral parameter  $\lambda$ , therefore, the symmetry of the original matrix is broken. To construct the Hamiltonian theory by the method that has been offered in Ref.[26], we must consider the other factors. First, we definite two special matrices:

$$\boldsymbol{\Gamma}_{1} = \begin{pmatrix} \lambda & 0 \\ 0 & \lambda' \end{pmatrix}, \quad \boldsymbol{\Gamma}_{2} = \begin{pmatrix} \lambda' & 0 \\ 0 & \lambda \end{pmatrix}$$
 (15)

then,

$$\partial_{x}(\boldsymbol{\Psi}^{-1}(x,\lambda)\boldsymbol{\Gamma}_{1}\boldsymbol{\Psi}(x,\lambda')\otimes'\boldsymbol{\Phi}^{-1}(x,\lambda')\boldsymbol{\Gamma}_{2}\boldsymbol{\Phi}(x,\lambda))$$

$$=\boldsymbol{\Psi}^{-1}(x,\lambda)\boldsymbol{\Phi}^{-1}(x,\lambda')W_{+}\boldsymbol{\Phi}(x,\lambda)\boldsymbol{\Psi}(x,\lambda') \qquad (16a)$$

$$\partial_{x}(\boldsymbol{\Psi}^{-1}(x,\lambda)\boldsymbol{\Gamma}_{2}\boldsymbol{\Psi}(x,\lambda')\otimes'\boldsymbol{\Phi}^{-1}(x,\lambda')\boldsymbol{\Gamma}_{1}\boldsymbol{\Phi}(x,\lambda))$$

$$=\boldsymbol{\Psi}^{-1}(x,\lambda)\boldsymbol{\Phi}^{-1}(x,\lambda')W_{-}\boldsymbol{\Phi}(x,\lambda)\boldsymbol{\Psi}(x,\lambda') \qquad (16b)$$

$$\partial_{x}(\boldsymbol{\Psi}^{-1}(x,\lambda)\boldsymbol{\sigma}_{3}\boldsymbol{\Gamma}_{1}\boldsymbol{\Psi}(x,\lambda')\otimes'\boldsymbol{\Phi}^{-1}(x,\lambda')\boldsymbol{\sigma}_{3}\boldsymbol{\Gamma}_{2}\boldsymbol{\Phi}(x,\lambda))$$

$$=\boldsymbol{\Psi}^{-1}(x,\lambda)\boldsymbol{\Phi}^{-1}(x,\lambda')W_{3}\boldsymbol{\Phi}(x,\lambda)\boldsymbol{\Psi}(x,\lambda') \qquad (16c)$$
where  $\boldsymbol{W}_{+} = (\lambda - \lambda')$ 

$$W_{-} = (\lambda - \lambda') \begin{pmatrix} 0 & \lambda u & -\lambda u & 0 \\ -(\lambda + \lambda')\lambda \overline{u} & 0 & i2\lambda^{2} & \lambda u \\ (\lambda + \lambda')\lambda' \overline{u} & -i2\lambda'^{2} & 0 & -\lambda' u \\ 0 & -(\lambda + \lambda')\lambda' \overline{u} & (\lambda + \lambda')\lambda \overline{u} & 0 \end{pmatrix}$$
$$W_{-} = (\lambda - \lambda') \begin{pmatrix} 0 & -\lambda u & \lambda' u & 0 \\ 0 & 0 & i2\lambda'^{2} & -\lambda' u \\ 0 & -i2\lambda^{2} & 0 & \lambda u \\ 0 & 0 & 0 & 0 \end{pmatrix}$$
$$W_{3} = \begin{pmatrix} 0 & (\lambda + \lambda')\lambda' u & (\lambda + \lambda')\lambda u & 0 \end{pmatrix}$$

$$\begin{pmatrix} 0 & (\lambda + \lambda')\lambda'u & (\lambda + \lambda')\lambda'u & 0 \\ (\lambda^2 + \lambda'^2)\lambda\overline{u} & 0 & -i2(\lambda - \lambda')\lambda^2 & -(\lambda + \lambda')\lambda'u \\ (\lambda^2 + \lambda'^2)\lambda'\overline{u} & i2(\lambda - \lambda')\lambda'^2 & 0 & -(\lambda + \lambda')\lambda'u \\ 0 & -(\lambda^2 + \lambda'^2)\lambda'\overline{u} & -(\lambda^2 + \lambda'^2)\lambda\overline{u} & 0 \end{pmatrix}$$
  
Finally, we find  
$$\boldsymbol{R} = f_+ \boldsymbol{W}_- + f_- \boldsymbol{W}_- + f_3 \boldsymbol{W}_3 \qquad (17)$$

 $\boldsymbol{R} = f_+ \boldsymbol{W}_- + f_- \boldsymbol{W}_- + f_3 \boldsymbol{W}_3$ 

and we can also obtain

$$f_{+} = \frac{1}{2} \frac{1}{\lambda - \lambda'}, f_{-} = \frac{\lambda^{2} + \lambda \lambda' + {\lambda'}^{2}}{(\lambda - \lambda')(\lambda^{2} + {\lambda'}^{2})}, f_{3} = \frac{1}{2} \frac{\lambda - \lambda'}{\lambda^{2} + {\lambda'}^{2}}$$
(18)

Substituting (17), (18), and (14) into (12), we obtain  $\{\boldsymbol{T}(\boldsymbol{\lambda}) \otimes \boldsymbol{T}(\boldsymbol{\lambda}')\} = \{f_{\perp} \boldsymbol{\Psi}^{-1}(\boldsymbol{x}, \boldsymbol{\lambda}) \boldsymbol{\Gamma}_{1} \boldsymbol{\Psi}(\boldsymbol{x}, \boldsymbol{\lambda}') \otimes \boldsymbol{\Phi}^{-1}(\boldsymbol{x}, \boldsymbol{\lambda}') \boldsymbol{\Gamma}_{2} \boldsymbol{\Phi}(\boldsymbol{x}, \boldsymbol{\lambda})$ + $f_{-}\boldsymbol{\Psi}^{-1}(x,\lambda)\boldsymbol{\Gamma}_{2}\boldsymbol{\Psi}(x,\lambda')\otimes'\boldsymbol{\Phi}^{-1}(x,\lambda')\boldsymbol{\Gamma}_{1}\boldsymbol{\Phi}(x,\lambda)$ 

+  $f_3 \boldsymbol{\Psi}^{-1}(x,\lambda) \boldsymbol{\sigma}_3 \boldsymbol{\Gamma}_1 \boldsymbol{\Psi}(x,\lambda') \otimes' \boldsymbol{\Phi}^{-1}(x,\lambda') \boldsymbol{\sigma}_3 \boldsymbol{\Gamma}_2 \boldsymbol{\Phi}(x,\lambda) \}$  (19) Comparing the expression of matrix (12) with (19), we obtain the result as

$$\{a(\lambda), b(\lambda')\} = \frac{1}{2} \frac{\lambda(\lambda^2 + 3\lambda'^2)}{\lambda'^2} \frac{\lambda + \lambda'}{\lambda - \lambda' + \mathrm{i0}} a(\lambda)b(\lambda') \quad (20a)$$
  
$$\{\tilde{a}(\lambda), b(\lambda')\} = -\frac{1}{2} \frac{\lambda'(\lambda'^2 + 3\lambda^2)}{\lambda^2 + \lambda'^2} \frac{\lambda + \lambda'}{\lambda - \lambda' - \mathrm{i0}} \tilde{a}(\lambda)b(\lambda') \quad (20b)$$
  
$$(|x(\lambda)|^2 + b(\lambda')) = -\frac{1}{2} \frac{\lambda'(\lambda'^2 + 3\lambda'^2)}{\lambda^2 + \lambda'^2} \frac{\lambda + \lambda'}{\lambda - \lambda' - \mathrm{i0}} \tilde{a}(\lambda)b(\lambda') \quad (20b)$$

$$\{|a(\lambda)|^2, b(\lambda')\} = -i4\lambda^2\pi\delta(\lambda - \lambda')|a(\lambda)|^2 b(\lambda)$$
 (20c)

#### 3 Hamiltonian Theory Based on **Action-Angle Variables**

#### 3.1 Continuous Spectrum

Among the Hamiltonian scheme,  $a(\lambda)$  is the action

variable that is not dependent on time t, while  $b(\lambda)$  is the angle variable and  $\arg b(\lambda)$  depended on t, namely,

$$b(t,\lambda) = b(0,\lambda)e^{i4\lambda^2 t}$$
(21)

The action variable  $P(\lambda)$  is a function of  $a(\lambda)$ , and the angle variable  $Q(\lambda)$  is proportional to the phase of  $b(\lambda)$ ,

$$P(\lambda) = F(|a(\lambda)|^2),$$

$$Q(\lambda) = \arg b(\lambda) = \frac{1}{2i} \ln \frac{b(\lambda)}{\tilde{b}(\lambda)}$$
(22)

Since

$$\{Q(\lambda), Q(\lambda')\} = \{P(\lambda), P(\lambda')\} = 0,$$
  
$$\{P(\lambda), Q(\lambda')\} = -\delta(\lambda - \lambda')$$
(23)

according to (20c), (22), and (23), we have

$$F'(|a(\lambda)|^2)4\pi\lambda^2 |a(\lambda)|^2 = 1$$
(24)

where F' is derivative of F. Therefore, it leads to

$$P(\lambda) = F(|a(\lambda)|^2) = \frac{1}{4\pi\lambda^2} \ln|a(\lambda)|^2$$
(25)

The Hamiltonian canonical equation demands

$$\{Q(\lambda), H\} = \partial_t Q(\lambda) = 4\lambda^2$$
(26)

We assume the continuous Hamiltonian  $H_c$  has the form

$$H_{\rm c} = \int_{-\infty}^{\infty} \mathrm{d}\lambda f(\lambda) P(\lambda) \tag{27}$$

then

$$\{Q(\lambda), H\} = \int_{-\infty}^{\infty} d\lambda' f(\lambda') \{Q(\lambda), P(\lambda')\} = f(\lambda) = 4\lambda^2 \quad (28)$$

Substituting (25) and (28) into (27), we obtain the expression of Hamiltonian in continuous spectrum as

$$H_{\rm c} = \frac{1}{\pi} \int_{-\infty}^{\infty} \mathrm{d}\lambda \ln|a(\lambda)|^2 \tag{29}$$

#### 3.2 Discrete Spectrum

At first, we introduce the discrete action-angle variables  $P_n$ ,  $Q_n$ , and the basic Poisson brackets are

$$\{P_n, P_m\} = 0, \quad \{Q_n, Q_m\} = 0, \quad \{P_n, Q_m\} = -\delta_{mn}$$
 (30)

then, similar to the continuous spectrum, we obtain

$$b_n(t,\lambda_n) = b_n(0,\lambda_n) e^{i4\lambda_n^{-t}}, \quad Q_n = \ln b_n = \ln |b_n|,$$
  
$$\partial_t Q_n = i4\lambda_n^{-2} \tag{31}$$

 $\sigma_t Q_n = 14\lambda_n$  (31) The action variable is a function of  $\lambda_n$ , denoting as  $P_n = G(\lambda_n)$ , we have

$$\{P_n, Q_m\} = G'(\lambda_n) \frac{1}{b_m} \{\lambda_n, b_m\}$$
(32)

Assuming the discrete Hamiltonian has the form  $H_d = \sum f(P_m)$ , and just as (26), we have

$$\{Q_n, H_d\} = \sum_m f'(P_m)\{Q_n, P_m\} = f'(P_m) = -4P_m^{-2} \quad (33)$$

Like the continuous spectrum, we have

$$H(P_n) = f(P_n) = -4P_n^{-1} = -4\lambda_n$$
(34)

namely,

$$H_{\rm d} = \sum_{m} \frac{1}{3} (P_m^{\ 3} - \tilde{P}_m^{\ 3}) = \sum_{m} \frac{1}{3} (\lambda_m^{\ -3} - \tilde{\lambda}_m^{\ -3}) \qquad (35)$$

Until now, we have derived the equations of the Hamilton system expressed by the action-angle variables.

In this section, we formulate the complete Hamiltonian theory for the DNLS equation with vanishing boundary conditions, in which (29) and (35) are expressed in continuous spectrum and discrete spectrum respectively. So far, through the construction of the Hamiltonian system, it shows that using the squared spectral parameter  $\lambda$  as an elementary parameter is reasonable.

## 4 Conclusion

In this paper, through the gauge transformation, we first introduce a new spectral parameter, the squared spectral parameter  $\lambda$ , to replace the usual spectral parameter k, and then develop the DNLS equation's Hamiltonian theory to justify that using  $\lambda$  as the basic parameter is reasonable. Taking the squared spectral parameter  $\lambda$  as the basic parameter is the key point of this paper. Comparing it with the simple spectral parameter, we derive all the formulas of Hamiltonian theory for the DNLS equation, which have the same modality as those derived by the simple spectral parameter. The success in applying the squared parameter here shows that a good choice of spectrum parameter is greatly helpful for IST method. Moreover, it is also beneficial to the perturbation computation of DNLS equation<sup>[20]</sup>.

## References

- Mj
   φ
   Ihus E. Nonlinear Alfven waves and the DNLS equation: Oblique aspects[J]. *Phys Scr*, 1989, 40: 227-237.
- [2] Rogister A. Parallel propagation of nonlinear low-frequency waves in high-β plasma[J]. *Phys Fluids*, 1971, **14**(12): 2733-2739.
- [4] Mio K, Ogino T, Minami K, et al. Modified nonlinear Schrödinger equation for Alfven waves propagating along the magnetic field in cold plasmas[J]. J Phys Soc Jpn, 1976, 41: 265-271.
- [5] Mjølhus E, Hada T. Soliton theory of quasi-parallel MHD

waves[M]// Hada T, Matsumoto H. *Nonlinear Waves and Chaos in Space Plasmas*. Tokyo: Terrapub, 1997: 121-170.

- [6] Spangler S R. Nonlinear evolutions of MHD waves at the earth's bow shock: Opinions on the confrontation between theory, simulations and measurements[M]// Hada T, Matsumoto H. *Nonlinear Waves and Chaos in Space Plasmas*. Tokyo: Terrapub, 1997: 171-224.
- [7] Ruderman M S. DNLS equation for large-amplitude solitons propagating in an arbitrary direction in a high-β Hall plasma[J]. J Plasma Phys, 2002, 67: 271-276.
- [8] Ruderman M S. Propagation of solitons of the derivative nonlinear Schrödinger equation in a plasma with fluctuating density[J]. *Phys Plasmas*, 2002, **9**: 2940-2945.
- [9] Zhou G Q, Huang N N. An N-soliton solution to the DNLS equation based on revised inverse scattering transform[J]. J Phys A: Math Theor, 2007, 40: 13607-13623.
- [10] Kaup D J, Newell A C. An exact solution for a derivation nonlinear Schrödinger equation[J]. J Math Phys, 1978, 19: 798-801.
- [11] Zakharov V E, Shabat A B. Interaction between solitons in a stable medium[J]. Sov Phys JETP, 1972, 34: 62-69.
- [12] Chen X J, Lam W K. Inverse scattering transform for the derivative nonlinear Schrödinger equation with nonvanishing boundary conditions[J]. *Phys Rev E*, 2004, **69**: 066604.
- [13] Chen Z Y, Huang N N. Method of meromorphic matrix of transformation for giving soliton solutions of the modified nonlinear Schrödinger equation[J]. *Phys Lett A*, 1989, **142**: 31-35.
- [14] Chen Z Y, Huang N N. Explicit *N*-soliton solution of the modified nonlinear Schrödinger equation[J]. *Phys Rev A*, 1990, 41: 4066-4069.
- [15] Zakharov V E, Shabat A B. Exact theory of two-dimensional self-focusing and one-dimensional self-modulation of waves in nonlinear media[J]. *Sov Phys JETP*, 1973, **37**: 823-828.

- [16] Chen X J, Yang J, Lam W K. N-soliton solution for the derivative nonlinear Schrödinger equation with nonvanishing boundary conditions[J]. J Phys A: Math Gen, 2006, 39: 3263-3274.
- [17] Chen X J, Wang H L, Lam W K. Two-soliton solution for the derivative nonlinear Schrödinger equation with nonvanishing boundary conditions[J]. *Phys Lett A*, 2006, **353**: 185-189.
- [18] Lashkin V M. *N*-soliton solutions and perturbation theory for the derivative nonlinear Schrödinger equation with nonvanishing boundary conditions[J]. *J Phys A: Math Theor*, 2007, 40: 6119- 6132.
- [19] Yang C N, Yu J L, Wang Q Q, et al. Demonstration of inverse scattering transform for DNLS equation[J]. Commun Theor Phys, 2007, 48(2): 299-303.
- [20] Cai H, Huang N N. Green's function method for perturbed DNLS equation with the squared spectrum parameter[J]. *Physica D*, 2005, 202: 60-70.
- [21] Chen X J, Yang J K. Direct perturbation theory for solitons of the derivative nonlinear Schrödinger equation and the modified Schrödinger equation[J]. *Phys Rev E*, 2002, 65: 066608.
- [22] Chen X J, Lam W K. Calculating adiabatic evolution of the perturbed DNLS/MNLS solitons[J]. *Phys Lett A*, 2005, 339: 440-445.
- [23] Huang N N. Marchenko equation for the derivative nonlinear Schrödinger equation[J]. Chin Phys Lett, 2007, 24(4): 894-897.
- [24] Huang Nianning, Chen Shirong. Completely Integrable Hamiltonian Theory of Nonlinear Equations[M]. Beijing: Science Press, 2005(Ch).
- [25] Cai H, Huang N N. The Hamiltonian formalism of the DNLS equation with a nonvanished boundary value[J]. J Phys A: Math Gen, 2006, 39: 5007-5014.
- [26] Faddeev L D, Takhtajan L A. Hamiltonian Methods in the Theory of Solitons[M]. Berlin: Springer-Verlag, 1987.